Shishu Nalanda ( High School )

Sample Question Paper

Sub — Bengali (1st Paper) Clss -V Full Marks — 100 Time —03:00 hrs.
S| AR feu RSB @F PR so FRT T @ 10
3 AT Ten @ FE @ 5x1=5

T) YT =G WL ( HAAEH / TCOPS! / Wi / OIS ) |

¥) fefeeDe oW ( Tole / 3G / F6e0IS ) TeE WeF |

o) ARG =i AN fost (Herer / gfeTw / AT / wEwafe ) |

0) T3fo1 J7a BRI @ WRABES T TR G 201 ( FRE / O TS bM TR / et ) |
©) T 8 O AW Il TG AR FRA ( s¢o / 3¢ / %0 ) |

3z netUie fIZ LI : 8x1=8
F) SRR LMI Mim SiuNj (Rm z M) arsRiia @i 3cs1 G911 «bi e Nij z

o) @2 QM TFYRCS OIF G0l el e |

) RO TO §iT R 86 WA & | ®) AR offet e e @ z

Q) Sl #Tof S P dim | ») =eGETCS SR TG @ IO |

S) S @ G a2 V@ & & I |

47 Alapwrg ESI ¢iJ : 10x1=10

3) FEEPT ol T I3 T WS TR 2 ) I T T [{E ooy IRebee 36 o 2
o) [ T, Waml 8 Pl M F F I 2 9) B T 70l Il T , a5 g FRE ™

el

) IAXE @RE 90T IR RIS T SRER WG 2 5) IW g 67 T Bt Afodim v o e
B) IS TAGART A4 Zo9 O > 2 @) (P T O IS ([ TRM AT TS = 2

) EENTE 4 e e 2 &) ST NGIMICT (A< THIN TFGCR 2
@ et 3 5
hijicL XielcL
J) FOR T MR €19 =11
M) jLj jlicke
o) swipp hC
0) pCp figilicil
8) BifewE oL Smgie Uie
6z pwirc ESI ¢iJ : 5x2=10

J) UIe 99 O T@ - PN L@ FA QA TN AR 2 ¥) IS P AR e Fleess @1 @R
o) TR TS ol AN A i Il 2wt 2 o FiE IR wmin s 2

) AR 2 @ 2 et ¢ O 22w 21 o1 & 2

8) ‘Oi IR ReE T CIrg AN - [NER a0 el N 26T FiF 2

9| @ @ ot 24eE Ted s ¢ 5x3=15
L) thjmil Atijie LIl Lile 5-uf =g @4 | ¥) OO Y& GORIF F T ?

o) AN AL PR R O T o0 el fcafest o e e w1 |

9) ‘G FE AR O MACO MO FE O~ [T I -1 Ao FI6e1 2 G 1 o1 90T 92

bl O @Y e, Sol , R, e, Wi 5x1=5
1 Reffie =1 el e, W, [, e, s 5x1=5
Sol FNLF *7 @Y : T , (@, bW, g, A 5x1=5
v>1 @R S 7t ae - 5x1=5

3) 7R AW wem w1 %) I3 e TGE | o) 997 O bW M T3 IR I |

%) 26 M MFERT HOE (OF S | ) AO6! (@O (P @G 09l |

S| TA I T, WG, pA, TG, A 5x1=5
vo| IR AfeE@ s~ (R FF: IA T, goioqa, agaa Ax7F A, W eth o exl=h
147 Reg e [emel wiemmr w63 @ e : LEZ, Fuli, eiimn, QilSe , bigj filRea;l Sei-25X1=5



Sample Question Paper

Sub — English(1* Paper) Class -V Full Marks —100  Time — 3:00 hrs.
PART - A

1) Write ‘T’ for true and ‘F’ for false statement in the given boxes : 4x1=4
a. India has improved in cricket over the years [ ]
b. Rahul’s father dose not like sports and game [ ]
c. India won the first world cup in the 80°. [ ]
d. In 1983 the world cup match were played in England [ ]
2. Match A with B : 4x1=4

A B

a. West Indies 43 runs

b. Sandip Patil Bowled first

c. West Indies played for 52 over

d. India won by Played 29 balls
3. Complete the following sentences : 4x2=8
a. India is now .
b. India’s first world cup victory was in the year
C. people came to watch the 83 final .
d. There is a gap of years between any two world cup tournaments .
4. Answer the following question with complete sentence : (any three) 3x3=9
a. Which team won the toss ?
b. Who was the highest scorer for India in the Match ?
c. What was India’s total score in the match ?
d. Which was the invincible cricket team before 1983 ?

PART - B
1. What happened on May 29 ,1953 ? Follow the given sequence and describe : 3x2=6
4a.m.
11.30 a.m.
11.45a.m.
2. Complete the following sentences : 4x2=8
a. The oldest woman to climb Mt. Everest is
b. She Climbed at the age of
c. The youngest Indian to climb Mt. Everest is
d. He climbed on .
3. Answer the following question with complete sentence (any three ) : 3x3=9
a. Who was the leader of the British expedition of 1953 ?
b. How many climbers got the chance to climb to the top ?
c. Who were the members of the first team ?
PART - C

1. Underline the correct answer : 3x1=3

a. The rock paintings of Bhimbetka are more than ( 1000 years / 20,000 year’s/12,000 year’s ) old .

b. Ajanta is famous for ( cave painting / wood painting / canvas paintings ) .
c. Bihu is a popular folk dance of ( Punjab / Assam / West Bengal ) .
2. Match the dances with the states :

Chhau Punjab
Dandiya West Bengal
Bhangra Gujrat

3. Write “T’ for true and ‘F’ for false :

3x1=3

5x1=5



a. In India there are many types of classical dances [ ]
b. Kathakali dance originated in north India [ ]
c. Sitar is a musical instrument [ ]
d. In India there is only one form of classical music [ ]
e. Tansen was a great vocalist [ ]
4. Answer the following question with complete sentence (any five ) : 5x3=15
a. Which country has a rich heritage of classical dance ?
b. Who loved to listen to the songs of Tansen ?
¢. Which monument in India is among the seven wonders od the world ?
d. What is Buland Darwaza ?
e. Name the folk theatres of Maharashtra ?

PART- D
1. Complete the following sentences : 7x2=14
a. Tarun’s grandfather know a lot about the Taj Mahal because he was
b. Akbar the Great was the grandfather of
c. Khurram first saw Arjumand Banu Begum at
d. Prince Khurram was later known as
e. “Mumtaz Mahal” means
f. Shah Jahan built the Taj Mahal in memory of
g. Taj Mahal is one of the
2. Write five sentences about the tajmahal using the following hints : 10
Situated at Agra — beside river Yamuna — built of marbel — tomb of Shah Jahan and Mumtaz Mahal — one of the
seven wonders of the world .

Sample Question Paper
Sub - English(2™ Paper) Class - V Full Marks —100  Time — 3:00 hrs.

1.Fill in the blanks with suitable preposition from the box : 5x1=5
[in, under,to, of,on]

a) My uncle visited us the 5™ of April .

b) Mr. Brown lives England .

c) The tail a monkey is long .

d) Rahul come _ my house this morning .

e) The cat is sleeping the table .

2. Fill in the blanks with suitable articles : 5x1=5

India won cricket world cup once again in 2011. It was moment of great triumph
and event of great inspiration to youth of India. members of team

India were hailed as national heroes .

3. Choose the right word from the ones given in brackets : 5x1=5
Last week my sister and | ( go / goes / went ) to the village fair . There ( were / was / are ) many
shops . My sister ( wants / wanted / want ) to take a ride in the Giant wheel . We ( bought / buy /
buys ) tickets for it . We (' enjoy / enjoyed / enjoys ) the ride .

4. Match the group A with group B : 5x1=5
A B
Soldier drives aeroplanes
Carpenter washes clothes
Pilot fights in wars
Doctor make chair , table




| washerman | looks after patients

5. Write down the opposite gender of the following words : 4x1=4
Goose , duck , male , peacock

6. Write the names of the adult animals or birds : 4x1=4
Colt, Cub, Chick , Kid

7. Rearrange the word and make meaningful sentences : 5x1=5

a) English /to /1 / study / love .

b) my / love / teachers / very / me / much .

c) village / lives / he / in/ a.

d) is / night / the / dark / very .

e) easy / is / book / this / very .

8. Whoam 1 ? 4x1=4
a) | deliver letters and parcels to your house . | am a

b) I assist doctors . | look after the sick in a hospital . | am a

c) | drive buses and taxis . | can also drive trucks . | am a

d) I work in the fields all day . I grow crops. | am a :
9. Translate into English : 4x2=8

a) Bjlj B3t ™ iR iy b) et eRren AreET
C) 2 AT AE d) frear el SIERIGT
10. Underline subject and predicate : 4x1=4

a) Reba goes to school .

b) She writes well .

¢) The sun rises in the earth .

d) Rahul is very excited today .

11. Answer the following question ( any one ) 4x1=4
a) What is poly —syllable ? give two example ?

b) What is sentence ? give an example ?

12. Read the following texts and answer the question that follow .

Once a fox was very thirsty . He saw some branches of grapes in a vineyard. The grapes
looked juicy and ripe. The fox wanted to get some of these grapes of quench his thirsty. He Jumped
again and again but failed to reach them. He tried his best, jumping as high as he could. But the
grapes were beyond his reach. So he failed to get them. Atlast he gave up his hop “Grapes are sour”
he said and went away .

A) Underline the correct alternatives : 4x1=4
1) The fox was very ( tired / thirsty / greedy ) .

il) The grapes were ( ripe / green / sweet ) .

1ii) The fox jumped high but failed because they were ( beyond his reach / within his reach /
swinging in the air) .

Iv) When the fox did not get grapes he become —( very angry / pleased / hopeless ) .

B) Answer the following questions : 3x2=6
1) Why did the fox want to get the grapes ?

i) Why did he give up his hope ?

13. a) Write a letter to your friend inviting him to your Birthday : 10

b) Write a short story in about 60 words using the following hints . 12



A dog stole a piece of meat - a bridge on his way - his image in the water of the river — he
barked — he lost his piece of meat .
c) Write a paragraph on “Trees’ : 10
14. See and write ; 5

I have many friend in my locality and school. Rittick Sen is my best friend . He is ten years old
. He is my class-mate. His father and mother are teachers. Rittick is a very simple lad. He is also
very gentle. He always help me in my studies and other class-mates. | prefer Rittick very much.
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